20110000000 3

201100 OO OO0 3

g o

L ooonoon

_onoonl

go0bO0d 2012-02-02 18:59:08 U0 OO OO

Ooooooool « .o

00000000 .+« v v v e e e e e e e e e

o

kL O] ... ..
£2
E3 0000 . .
k4
ks 0o o], .
E6
fr_0000]. .
8 00000

1

goooon

good

1. 00oo0obOoboooobooon

2.00000000D0000O0

. 0o00booboobgoboooboooboo

uoodg OoobOobooooboboooboobooon

7
8

S

.0ooo

ooo

ooo

.oooo
.0ooo

oood
.ooooo
.000o0ooooo

A A

goooooooon
ooo

oood

gono
oooooooo
oood

oood

0000 0000 8% ODO00oooOoOoooooo (20%) 0ooooo
oboooooobobobooboooooboobooboooboobooooonoog
00 (D0)00000O00o0oDOo00o0oOo0oOoooUoOooon



20110000000 3

2 Jogooo

gooboooboobooboo. ggboooboooboobbooboo
ooooooboo

§1 O

(11) 00 (0) DD RODOODOOOOROOODOOOOOOOOOO
00 (R1)OO0 (R7)DD0D0O00OOOOO

(R1) 0000000000
(R2) 00D0D0OO0O0OO0O

(R} 0O0D0DO0 000000 (a+0=0+a=a)

(R4 00DDO0O0O0O (a+(—a)=000 —aD00D0)
(R5) 00 DDO0OOO0OO

(R6) 00000000000 100000 (a-1=1-a=aq)
(R7)

R7) DUOOOOOOOO (a(b+c¢) =ab+ ac, (a+b)ec = ac+ bc)

OO0 FOO0OOO0ODOOOODOOOODOOOOOOO

(F1) FODOODO
(F2) 0000000000 (ab=ba)
(F3) 00000 ¢ 000002y=100yeF (x000)00000

(12) 00O (O0)

(1) DO00DD0O00O0D QUUOOOO

(2) 00O0UCOO0OO0D ROOODOOO

(3 00000000 CcooOoooo

(4 D0D00D0O0O0 ZzOOOOODOO

() 000C00O0O0UCOD 0000000 UODOO Qz)UCO0OO (OO
0)0o0ooooooo

() 000O0DD0O0DO0OD 00000 Rjz]0 Clz]0000D0000O
ooood

(7) D00DD000D0000000 Q) 00000000000 0000
D0000000000%(z),R(z) 0 C(z) DOOOOO

(8) Q(vV2)={a+by2|a,bcQ} 000000

(13) 00 @beQO000a+bv2#0000 a®>—-202#000000
oooog
(14) 00 abec,dcQUD00a+by/2=c+dy/2000 a=c00

b=d0O00D00O00O00O

§2 UOOOOOODOODO

(21) 0DOUOOOOO OCOOVOOFOOOUOOOOOODOOOOOOVOOO
oorFO000DODOOOO0O0OO0O0OODOOODOOODOOOOOOODODOOO

V6
V7

(V) =(R1) 0000000000
(V2) =(R) 0000000000
(V3) =(R3) 00000 000000
(V4) =(R4) 000000000
(V5) 1o =v (10)

(V6)

(V7)

1v
0000000000 k() = (k)p 0000
00000000 ((k+D)v=ko+lv, k(v+w) = kv + kw)

(22) O

() Q0 QOOO00000D0DO00000O0O FO FOOOOOOOO
0000

(2) Qz)]0 QO ODOOO0OOONDNOO00O0OOD FOOOOOO Flz]O
FOODOOOOOODOO

3) Qz) 0 QODOOOO0OO0O0ODDOOOO



20110000000 3

(4) Q(v2)0 QOOOOOOOOOOOO
(5) CO0ROOOO0O0O0O0O0O0O0O00O
(6) 0 FOOODO E00OOOOFO E0DO0OOOOOOOOOOOO

(23) OOOUOOOOO FOOOOOOOO VOO vy,ve,...,v, 000
ooooboo0ooboboo FOO1OooOoooooobobooooo

{aqv1 + -+ apvy | aj € F}

ooooboooobooon

(24) 100001 000000000 FOOOOOOOO VOO
v1,09,...,0, 0 1000000000a; € FOOOOayvy +---
0D000000000a¢; =0(j=1,2,...
00Oaj,b;j e FOODOO

+apve =0
,k‘)DDDDDDDDDDDDD

arvy + - - 4 apvp = bivy + - A by

0000a;=b; (j=1,2,...,k)000000000000000
10000000000 10000000VO0O0000 10000000

VvOoO0O0000000000000000000000000000000
O0000VO FOOOOOOOOdimeV 000000 dimV 0000

(25) O

() R"O0RODDOOOOOOOOOOO00 {ey,ey,-..,
R*ORO 000000

(2) CORODDOOODO {1,s}00000CO RO 2000000

(3) QD QUOUDODOD {1}0000000QO 1000000

(4) Q)]0 QUODDOOODDOODO {l,z,2%,...} 0000000Q[z]
0QUUDODOODO

(5) Q(v2)0 QUODDOOD {1,v/2}0000000dimeQ(v2) =20
000

e,y 00000

(6) Rz)00020000000 R[z]<,00000000000{1,2,22}0
ROOODOOOODO0000O0dimgR[z]<o=30000

§3 0OOO

(31) 00 (00O0) (00000000)2000 ES>FOOOOOOF
0 EO0O0O0OOED FOOOOOOOOOOOOOOOOO E/FO0000
oooo

(32) OO (COO) ODOUO EOFOUOOO,E0FOOOOOO
ooooooooo, EO FDDDDDDDDD,[E:F]DDD.|:||]|:||:|7
FOFOnOOOODOODOO.

0o00O0O0D0000 nO0O0O eq,e9,...,e, € EODOODOOOD € FE
OO0z =aie1 +asea+---+ane, (q; € F)DODOOO0OOOOODEDQD F
OnO00O00o0oo

(33) O (0OO)

1
2

(1) CORO 20000000
(
(3

(

QW?2)>QOD 20000000
RO>QUDOOOOODODOO

4 Q-HQO 10000000

)
) Q
)
)
(34) OO0 (DU0OU) UDUOOU EDFOUO0OUO0OODaeFEO FOOO
000 FOOOUOOOUOO F(e) OOUOOFO «OODOOOOOOOOOO
00000000000 «00000U00O0O0OUO0O0OF(e)0O0OOOoOoO

35) 0 (0OOO)

2) C=R(y/-1) 0000

(
u)DDDDQwﬂDD@DD\@DDDDDDDDDDD
(
(3) Q (wjf{w+mf+cJﬁabceQ}DDDD



20110000000 3

(36) 00 (00DO0O0OO0O0O0O0) 0000 ES>FOO0O0O0OOO0

(1) «c ED0O0DDOf(a)=0000000000000000 f(z) € Flz
000000000 FOOOOOOOOODOOOOO00000000
000000000 «0 FOOOOOOOO0O000

(2) ac E0 FOOOOOOOODODOf(e)=0000000000000
00000000000000000 1000000 «0000000
0oo

(3) 0000 E0D0O FOOOOOOOOOOESDFOOOOOODOOO

(379 0D (UODODOOUDOOOODO)

() R>QODOODODD0O00O0ODODD00O0O0O0OOOO000000O &=
3.1415-.- 0000000 e=271828--- 0000000000000
000 -,0000000000000000000000000000
0000000000000000000000

(2) 0000 R>QOOOOOV2eRO000O00 f(z)=22—-200
0000000() V20 22-2=0000000(G) f(x) 000000
0200000 10000(GH) 00 1000000000000z —+2
0000000000000000000000000f(z)00000
000000000

(3) 0000 CHOROODOOODON:eCOODOOOD f(z)=22+1
afululn

(38) OO0 (DOUDODOOOUOO0O) DOUDOODODODOOUDOOOODOO
OO00o0ooO0OO0oRO>QOOOODOOOODODOOODODOO

(39) 00 (000000000) E>S> FOOOOOOOOOa € E,
feFx00000000000

(i) fO0 o0 FOOOOOOOOOOO
(i) fO « 000000 fO000000OO010000f0 FOOODOOO
oood

4
(310) 0O (00O0O0O0) ¥20QO00000000 X*—-20000
(311) 00 (000DD00000O0O000) 0000 EDFOO0 acE

obooobooooboobooood

() «0 FODOODODOODO
(i) Flo) 000000
(ili) Fla] = F(«).

O00O0F(e)0 FO «0O000O00UO (@«k00O00OO0OO0O0OOO)ODOOO
Flo)O FOUOOOOUOO «OO0OOOOOOOOOOOO

Proof. [(ii)«(iii)] F() 000000000

[(i)=@()] « 00000000X 0DO000000000F[X] - Flo]
(f(X) » f(a) 000000DO00D0O000 Floj000000000OO0
0ooooo

[()=(i) cc E0 FOOOODODODOf(X)e FIX]O0 aODOO0O0OOO
000 f(X)000000000000000

000000 g(X) € FIX]0OO0O0Og(e) 400000000000 g0
f00000000000g(e)=00000000000¢0 f0000000
f000000¢0 f0000000000000000 p(X),q(X) € FIX]
00000000000

g(X)p(X) + f(X)g(X) =1

000000000 X =a0000000f(e)=0000000 g(a)p(e) =1
0000g(a)000 pla) € Flo] 000000000000000000F]0]
0000000000000000000000000 O

(312) 0O (0O O0UDOUODDO «0OOOOOOO)

() boDoUDi=+/-10RO0OUCOCOUOUOOOOO s00000OOOO
oob00b00000b0boooog



20110000000 3

1
2) —————— 0 a+by/24+ ¢4 (a,b,ccQ)ODOOOO0
()1+\‘7§+\3/1 a+bv2+cV4 (a,b,c € Q)
(313) O (DOODDO) a=+v2+4/30000

() «0 QOOO000D00000D000000000D004000000
0Ooooooo

(2) vV2—-+/3000 Q00000 Q00000000000

(3) V2-+v30 00000000

(0 (1) a=+2+/30000200000e®=5+2v/600000
0050000000000 200000a*-10a%?+25 =240000
a*—100*+1=0000000002%* 1022410 « 000000000
000000 400000000000000000000

(0(2)1/a0000000000 vV3-v20000v2-v3=—-1/a0
Q)0OODOD

(0 B)V2—-+v30 00000000 -1/ 000000000000
0000 Q@) 0000 —« 00000 000000000000 O0OO
flx)=2*-1022+10 —2 0000000 —2*+10:0000 10000

f(z) = —2(—2 4+ 10z) + 1

0000000 2= 00000000 = —a(-a3+10a)+1 0000
—a(e® —100) = 0000 -a 0000 o®*—10a 0000

(314) OO (DOOUOOOOO0O) ODOOUO EoFOOFOOOOOO
ac E00000000D00O0O0O0O0nO000000000D00DOODOO

(1) F(a) ={ao+ara+--+a,_1a" | ag, a1, ..
2) [F(a): Fl=n

yAp—1 EF}

(315) 0O (COOUOoOOoOoUooOon)

() D000 C=R(v=1)00[E3)0 (1)000 200000000000
V=1000000O0O0@E7]0 (3)000020022+1000000
0000000000000000000

(2) EI0]0000000 Q(¥2)>QO0000030000

(316) 0 (000D0D0O0O0O0O0O0O0O0O0O0OOOO) ECcFO0O0O0O0
feFx]0000000000aeED fO0000O00[F(a): F]=degf
0oooo

(3.17) OO0 (DUODOOO0OO0O0D) 3000000 20000000 LD
EForOoooogn

[L:F)=[L:E]E:F]

(318) 0O (DODODOODODO) Vv2+4/60Q00O000O0D0O0O0.
(0)a=+2+/50000000Q(e)=Q(2,v/5) 0000000000
F(a,b,...)000 FOOO a,b,..000000000000000F0O0C
0000 a,b,.. 000000000000000000Q(a) € Q(v2,v5)
00000003/a=+v5-+/20000
1 3 1
2<a+a>=2(\/§+\/5+f—f2)=\/5
000000V5€Q(e)0000000000a—-+v5=v20 Q)00
0000000Q(e) D Q(v2,v5)000000000Q(a) =Q(v2,v5) 0
ooog
000[Q(V2),v5): Q(v2)] =2, [Q(+2): Q)] =2000000[EI7]0
O00[Qe:Q=40000000000e=+v2++/6000000000
040000
a=+2++/5000020000a?=7+2/10. 7000000000
0200000a*~14a+49=40. 0000a*-14a+9=0. 000000



20110000000 3

000000 2*-142+900000 EE]00000000000000
oooooooooooooooooooOoooooooboboOooDb 400
uboooboooobobooobooboooono

84 OOOOOOOO

(41) OO0 (DODOOUOO0O) ODUOUOOUOUOROOODDOOOUDODDOO
boboobooboooooboobooboooobOobuonO0OO0ODO
uboboo-0000000

gbobooobooboboobooboooobooboobboooboo
oboooboooooao

(42) 00 (00D0OOOOO0) ROOOOOOO000000O0O0000
D00D0DD0000ROO0OO0n0000 f(z) € Rx)000000000nRO
0000

(43) 00 (000O0) 00000 (000D000000)0000000
000000000000000000000CO000000000000
0000000000000 QO00O0ROOO0OOOOOOO

00 (00000000000 0) 0QUO0D0D0O0OoOoUooo

gboooooao

(X]OoODOoUooOooooo QUuooooo
(X]OOOoUoooOoo 1oooooooooooo
gboooooboooooo

(45) OO0 (DODOOOOO0) 0D FOUODOODOOOODODDOOOOOOO
oobooboooro0oobo0oobOooobo0oo FOODOOOOOOOOOO
O0000Oo0U00oDOoOO0ROOODOOOODODOO CoOOO

§5 0000

(.1) OO (DOOUDOU) UDOODOOOODOO (L,0)DODOODDOOOOO
oooooooooooo pO0OODOOOOOO

(1) P, ={0,(1,0)} 0000

(2) P,,P,,...,P,000000000000P, 0000000200000
0000000O00OP, 0000 1000000 P,0000000 20
0000000000000000000 20020000000000
0000 QOOO00OP,.; =P,u{Q} 00000

3) P=U,s, P, 00000

gobobooi1gooooooooooboooobooooobooooboog
oooooooooboboooooooooobopPOODDOOOOOOOOO

O0o0oooOoo0ooooo0ooooobooOoPOO0O0Dx20O000O
yOooooooooooooOooooooboooobooobooooooo
gooooooobobooooooooboboboooboooooooDoog
gooo

(52) 0O (0OOD0)

() D0/ 0000D0O00O0D0 AQOUOODDOOOOYOOOO AOD
oobooboooobooon

(2) 00/¢000000000OO0O0O AOOOOOOOOOYOODOO ADOO
oooobooogoobooon

(3) 00 ¢00¢000 A0D0DOODODOOUODOOYOOODO ADDOODOOD
oooobooon

(4 00¢00¢000 ADOO0O0O0OOOOADOOOYOOOOO 60O
ooooboboooogooboo

(53) OO0 (DODOOOOUOOO) DoOOOUOOOOOOO



20110000000 3

ab

(54) OO0 (D0DDODOO0D) 0DOO0OOD«0O0OO0DODOOOOOOVeOODOOO
oood

000000000000000020000 az?+br+c=00000
Oooooo0ooooooobooQobooooobo 200000000000
0000 FOOOOO (FWCROFOOOOOODOOOO

(55) 000000000 00000000 Py(21,11), Pa(z2,12), ...,
P,(zn,y,) 000000000QO000 F, O

Fn = Q(x17y17x27y23"'7xn7yn)

ooooon
000000000000 20000000000 azx+by=c0000
O0a,b,c0 F,0000000000000001000000000 200
O00000000D00000 (z—a)?!+(y—0b)*=r*000000a,b,7?
0O F, 000000000000
000000000000000 P, 0000000002000 y0O
000000000000000000

200000000: D000 F, 0000 (F,001000000000)0O

0000O000000: 0000 F, 000200000000 (F,00 20
oooooooo)o

20000000:. 0000 FR,000200000000D0

(56) 00 (000O0O0O0O0O0O0O0O0O00) 00000 (v,y) 00000
0000QOO000002000000000000000 F (FcCR)O
D0O00zye FOOOOOOOOOOOOOOOOOaOO0000000
0000QO000002000000000000000 F(FcR)O
O000D0aeFOO0DDOO0O0O0O0ODOO

(.7) OO0 (CODOOUOOOOOOOOOOOOO) OD0OeOOOOO
0000000000000 0F=Q(v) DOD0O0OOUODODOOOOODO

Ogo00ooo 200000000000
Q=FCcFcC---CF,=F

O00000000000000WF: QU 2000 2000000000
ooooboooo

Proof. [000]000000000O00B4AO0 FOOOOOOOOO a
000000000

[000]eaeRODODO0O0O0O000O0[GGEOO0O0D200000
QCF/ cCc---CF,=F  (a€eF')

O00000F >2Qe)00000D0O00000DDOODOO F=Qu)ODO
O00000F=FnFOOOOO

QcHhC---CF,=F

uboobodabgobobobooboboob 1o 20b00004aoanb
gboog200000b000bo0o0booboobooo O



20110000000 3

(5.8) O

(1) 0500 (00050)000000000000 cos72°=(v5—1)/4
000000000000000000000 QD 2000 (000
Q+5)) 00000000 500000000000

(2) 2030000000000000000 v/2000000030000
000000000000 200000 100000000000000

(3) 40°000D00D0O0O0DO0ODOODO120°030000090000000
00000000000a=cos40° 0000 Ocos30 =4cos®d—3cosb
0008 —-6a+1=0000082-6x+1000000 (00000
r0y/2000000 %*-3y+100mod2000 32 +y+10000
00000« feZz)]0 modp00000D0ODODOOOOOODO)DO
D0a«0000000000Q(e)CcQO 3000000 «00D00OO
ooooo

(59) 00 (0ODODDOOODOOO0) O0-,00000000000000
00000000000000 ¢(r)0200000000000 ({000
ooo)o

(5.10) OO (D B0000UD0) OSO00000D0OUDOOOODOO.

§6 U0OOODODODOODOO

(6.1) OO (CCOOOQOOOLOOUUOUUUO) nO30000000 =
360°/n000C=cosf+isind 00 000000000000 nO000 nO
gboobooboooboooboobooboo

Q=FCcF C--CF,=0Q() (1)

oboo0z200000000000000000

Proof. 0000 nO00000O0C00OOO0OOOcosd0OOOODOOONO
ooooooboooooon

(+¢ ' =2cs00000cosh € Q) OODDODDODOOODO Q) D
Q(cos$) 00DOOOCOO0DONON00NDNON0DDON0Q(cosf)00 20
200

(z=O—-CYH=22—C+¢He+1=2*—-2cosh-2+1

0¢00000000Q((¢)DQ(cosh) 00200000000 D0ODOODO
20000000
[D00]cosf 00 0DODOOOOOOOOO

Q=F CF C---CF =Q(cos0)

00200000000000002000 Q) > Qecosf) DDDODODO
0000 @OOO0O000

[000]0 MOO000000000000000000 Q(ecosd) 000
0ooooooo

Q=EyCEyC---CE;=Q(cosb) (E; = F; NQ(cos b))

gboboobooboboboooboobob 10000 20000000100
0000000000 0000QUO Q(eosh) 00 200000000ODO
O00OcosO0O0DODODOOOODO O

(62) 00 (00nO00) nO00000000000¢0 100000
000D000¢ =100 ¢ £1(1<k<n-1)00000000

(63) OO (U0ODRU000OO00OOOOO) nOOOOOA=360°/nO000
¢ =cosf+isind 0000

(1) (000000000
(2) D00 k00000¢Ck000-0000000000000000(k,n) =
100000000000000001000 2000 ¢(p)0000



20110000000 3

(4) OO (DOUCOOOO) DOORnOODOOOOOO ?,(X)O

(I)n(X) = H

£¢0 1000 n0O0

(X =9

0000000000000 D0O000000 ¢(n)000OO

(65) 0O (0O0DDOODODO)
cbl(X):X_la (I)Q(X):X+17
Py(X) =X+ X +1, Dy(X) = X% +1,
Ps(X) =X+ X3+ X2+ X +1, Pe(X) = X% — X + 1,
Pr(X) =X+ X+ X+ X+ X2 X +1, Pg(X)=X*+1

(66) 00 (X"-100000) 0000000000

xr—1= ]

d0 nO0O

Dq(X)

uboooboooooogao

n=>Y  ¢(d

dd nDO0O0O

oood

(6.7) OO (OOOODOODOOOOOD) ¢,.(X)ODODOOODOOO
gboogooboo11ogoo

(68) 0O pOOOOODOO

() 1<k<p-10000(})0p0O00000O0
(2) 9(X) € (Z/(p)[X]DOOO00g(X)P =g(X?) 0000

(69) 00 (0DDOOOOOOOO0) ¢,(X)0QO000000

Proof. 0000 =360°/n000¢=cosf+isind 00000, (X)000
¢ (0<k<n-1)00 (k,n)=100000000000000QOO0
000 zZzOoOOoOoOoOoOoOOoOOOO0OO0Y,(X)O QUUUOOOOOOOOO
oooooga

oooe,(X)OOooooUooUoooooe,(X)0OODOODLOUOOO ¢COO
000000 f(X)€Z[X]00O0000 00 ¢*00f000000000
O00k0000000000000000¢* 0000000 g(X) € Z[X]
o000 f0d0 ¢g000000D0O0O0DOODODOODOODOODODOODODOO
0000000000 X"-1000000000f(X)g(X)O X"—-100
googo

(0 f00000 k>20000k0000 p00000 ((kn) =10
O(pn)=100000000000)0GX)=g(X?)00000¢k?0 G
000000k00000O0 fO000000O00OOf00000O0 GX) =
F(X)R(X)DO0D00 (WX)eZ[X)DOOOOOOO Z/(p) 0000000
fO000DO0OO0O0D0ODOOO0OOO0

gX)P =g(XP) = G(X) = F(X)h(X)

0000(Z/(p)[X]00000g0 fO00000000000000
000000(Z/(p)[X]00000X"—-100000000(p,n) =10

00X"-100000000000000000000000000%®,(X)

0ooooooo O

(610) 0O (0 nO000D000000) 300000.0000¢(n)0 20
0000000000 -000000000000

(611) 00 (0nO00000000) 300000 0000¢(n)0 20
0000000~,00000000000



20110000000 3

§7 0000

(71) 00 0O0O0O0DOO0OO0O0ODOO00O0O0O0O0000

(72) 00 0O0O0DO0OOODOO0O0O0DOO0OO0O0OO0O0O0O0O000O0000
000

() Dooooo (8) DOOOO C

(2) 00000000 (9 0000000000 Z

(3) 000D (10) 00000000000 Q]

(4 D000 (11) 0000000000 Rz

(5) OO0 Z (12) 00000000000 Clal

(6) 00000 Q (13) 0000000000 Z(z)

(7) DOOO R (14) 0000000000 R(z)

(73) 00 000D0O00O0ODO0O0O0O0DO0OO0O0O0O0O000O0000000

obooobOooooboobooooooooon

(1) 0000 Z

(2) 00000 Q

(3) 00000 C

(4) 0000000000 Z]

(5) 0000000000 Rz

(6) 00000 »n0000000 Mat(n,n;Z)
(7) 000000 mxnO0OOO Mat(m,n;Q)

74) 00 0OOOOOOOO

yoooooooooooo

) J0ooooooooooo

3) 0000 E>DFU00U0O0OeeFO FOOOOODOOODOOOOOO
) Joooooooooooo

)2000000000100000

10

(r5) OO OOOOCOROOOOOOOO

(1) DoOoUoDOoooo
(2) CORODOOUD 100000
3) {1+¢1—-40COROOOUODOOOOOOOOOOO

(r6) OO0 QO 1000UOUOOUOC020000000000QO 100
ooooboob 20000000000

(77) 00 0000 QOOO0O0O0O0O0OO0O0OO0O0O000000000
1

MV3 2 vV3+1 (3) 7

(78) OO0 2000000 Q(W2)>QOOOOOQ(L2)ODDOOOOO

a+b/2 (a,bc Q)0 V2000000 10000000000004000
000 Q(v2)>QO0000Q(v2)000000000000000

(79) 00 O0OOOOOOO0

(1) 0000 QW3++2)>QUDODO0O0ODOOO
(2) V3++/20QO0O00O00O00O0O0O0O

(710) OO0 0OOOOOOO

() DO0OoUOoO0O0OOOOUODODOODOODOOUOOO
(2) 00000000 ODOOODUOOOOoOOOoOO



20110000000 3

(711) 00 00 e0000F=Q(e)00000030000000

(a) 000000000
(b) 00 200000QCcFRCFRc---CF,=F0000
() 0000 [F:Q 020000000

00000300000000@M(2)000 (b)00000000000 (b)
0 ()0000000()0 (¢)00000000000000000000
0000

(v12) OO0 0160000 170000 BOOOOOOOOOOO

(v13) 00 ~00000000O00COOOOOOO

(1) 1000000000000
(2) 1000 12000000000
(3 1000 ~,000000000

(r14) OO0 9o,(x)000000O0O0OOOODOOOOOOOO

(1)
(2)
(3) ®n(z)0000DO
(4) ®13(z) 00000

§8 OODOOO
7Ooo0 [Ljoooo

11

721000

() 00000 (00ooo0o)o
00000 (00000000)0
(10o0000)d

(2)

(3)

(4)

() 0000000000 (2000000)0
(6) DOOOO

(7) DoO0O0

(8) DOOOO

(9) 0000000000 (x000000)0
10) 0000000000 (z000000)0
11) 0000000000 (z000000)0
12) 0000000000 (z000000)0
13) 00000

14) 00000

(731000

(

(2)

(3) 000000D00000000000 QR,CO00
(4 0000000000 (000D00000)0

() 000000D0000000D0000 QROODO
() D00O0O0O0D0D000 (000D00000)0

(7) 00000000000000000 Q

[74)000 (1)0000EDFOOOOOOOO0OED FOOOOOOO
0000000000000000

(2)[B4]0000
B)BHoo00
(4)@EBHI0000
(5) Q(v2)> Q. (20 QOOODO00O X2—-20200000)



20110000000 3

[75000 (1)v—I10ROODOOOO X2+1000020000C=
R(v=I)>RO 20000

(2) {1,4}. D0DDOOODDOOO a,be ROODOODa+b6i000 10
gogoooooo

(3) [000D0D0] 000000 a+bi(a,b€R)00000a+bi=pl+
i)+¢(l—4) 0000 p,¢e ROODODUOODOOOOOOOOOOOOOO
p=(a+b)/2 q=(a—b)/20000

o000 p(l4+i)+¢(l—i)=0(p,¢geR)D000O0(P+q)+(p—q)i=0
goo

p+q=0

p—q=0
0000000000 p=¢q=000001+i01-40RO010000
000

(75000 [QD1000]+v2, V3
(00)a,beQi000aV2+0/3=000000000a#000000
0000+v6=-3b/c000000000+600000000000000
000 e=00000000000b=0.0000v20+/30Q0O 1000
oooo

QO 1000 V2, —v2.
(00)a=b=10000avV2+b(—v2)=00000000

(771000 000eeROQOOODODOD1000000000 X-—a
00000000000 QODOO00D0D000 «eQOO00OD0O0OO0OO0ODO
0000000000 200000000000

(1) X=+/3000000X2-3=00000000000000000
0000000D0000000000 X2-30000

(2) X=+3+1000X-1=43.00000000X%2-2X-2=00
000000000 X2-2X-20000

(3)X=1//3000X%-1/3=0.000000000 X?2-1/30000

12

(73000 EBIN(1)000a+bv2+cvi+dvs8 (a,b,c,deQ) 000
0oooo

(79)000 (1)DO00Q(W3+v2)=Q(W3,v2) 000O0Da=+v3++v20
O000a+a '=2/300000Q(e)00000000a+e 0000
0000vV3eQ()0000000000V2=a-v3€Q(a)00O00
00000Q(W2,v3) CcQe)0D0D00000000000a € Q(W?2,V3)
O00000000Q(V3++v2)=Q(v3,v2) 000000

V30 QODD0O000D0 X2-30000+v20Q(3)000DO0O00
0X2-2000000Q(+3,v2)>Q(H3)>QO 20000000000
D000BEI7J0000004000000000Q(e) >Q0 40000
ooog

(2) 0000000 (1)004000000X =+3++/2000000
X4 -10X2+1=00000000000000 X*-10X2+10000

[(Imjooo ()EIoo0---000000000MO000000
() [EIj0o0o0o0ooo

[I00O00 (a)0 (b)O00O0O0M) D000 ()000 ((¢)000 (b)y0o
0Ooooo0on)o

[7IZ)J0O0O0 O00O0O0O00000¢(16) =38, ¢(17) = 16, ¢(18) =6 00
0020000000 160000 17000000000 180000000
ooooo

[(I3)000 (1)000¢01000-00000000¢"=1000n
000000 kD000 ¢k#£10000000000

(2)400(0 0000000000 1200000000000430°, +£150°
0o)

(3) ¢(n) (0ODDODODOD)



20110000000 3

[IZ000 (1) deg ioo(z) = G(100) = $(25)(4) = 20 -2 = 40.
(2240000 1,2,3,4,6,8,120000

x?t—1

P2u(w) = Dy ()P () D3 () Pa(2) P (2) P (2) P12 ()

(3)710000000®n(z)=1+z+2%+ - +27.

4z -1=@2"-1)2+1) =" -1)(*+1)(2°-23+1) 00000
2*-1000900000022+100030000 -10006000000
¢ 00000 18000000®3025-23+1000000000000
O00deg®135=¢(18)=6000000000000 ®g(x) =25 —a23+1
oooo

13



